T2 4FE TEE F2RXTFEE

(ERt2 4% 3RA31H)

FERESNXTFEE

BATII OFNEINER @FIILB 48

Ei] E - B B AZFERHE | nEFPEHH | = 02
i & ‘I% Bﬁ R A 0 0 0
Fl A B X A 19.110,010] 18,840,000 O 270,010
= [E B B K A 388.183,490| 377.295,000]0 10,888,490
2 | o [FRAISTH IR A 0 0 0
z | (REREAMESRA 670,000 337,000 O 333,000
| F N & I A 700,000 792.000] ® 92,000
=] [ ) A 7.000,000]  2,949,000] @ 49,000
& | A [BASFIEREBESRA 0 0 0
5| [SZWFIARLGSNA 140,000 124.000| O 16,000
| [ SHEREEASRA 0 0 0
X| EERAEEAZRA 0 0 0
ZEILAGT (1) 411,703,500] 400,337,000 O 11,366,500
A B B % B 231.107,500] 197,339,000]O 33,768,500
+|E B & % Wi 39.887.500] 28,051,000[O 11,836,500
£ £ & % W0 126,902,500| 128,145,000/ @ 1,242,500
BAZTIEZE 1,656,000  1,821,600| @ 165,600
4 BRERAEEASZ L 0| 11,500,000| ® 11,500,000
FEZ b (2) 399.553.500] 366,856,600|O 32,606,000
BEEHESIER
@ =01-@ 12,150,000| 33,480,400/ @ 21,330,400
s | W | ERE RS REEIA 0 0 0
= ﬁ’ﬁ %F%#Bﬁ%l&)\ 0 0 0
fis ﬁﬁ'ﬁﬁgﬁ*%uvﬁ (4) 0 0 0
l%f % B AENA %N O 1396000|@ 1,396,000
CE TTASTH 0 0 0
2| | EREEEXET (5) O 1.396,000@ 1,396,000
R RREREASNEED
b3 (6) = (4) - (5) o -1,396,00000 1,396,000




FTERERRZTFHE

— B = ® B | AETEE | nEvER | E  E
B A & KX A 0 0 0
gt | iy [REAMEB R HIRA 0 0 0
5| [BASTSEEBHERA 0 0 0
| [EUIEEIEA 0 0 0
#| A [FOROIA 0 0 0
I HBRAL (7) 0 0 0
L[ BAZTEEESES 10.350,000] 10,350,000 0
f;{ + [PEAMAAREXE 0 0 0
w|  [ELASRIEE 0] 18.500,000| @ 18,500,000
ZOROXE 1,.800.000]  1.654,000] O 146,000
iy [FIN A RS - & 5
BEWOES 0 0 0
MBXLT (8) 12.150.000] 30,504,000| @ 18,354,000
MRS SN ESR
(9) = (7) — (8) -12,150,000] -30,504,000|0 18,354,000
F P& (10) 0 0 0
LA NE o
(11) = (3) + (6) + (9) - (10) 0| 1,580,400|@ 1,580,400
N RZIL SRS 12 26,975,430
SRR ASES (11)1(12) 26,975,430




